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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 3 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :
Options :
2 B 2

86435110261, (T P)

o 3 £2

2(ax + B)
86435110262.

4af
(x + B)

2

t
86435110263.

o B
4 (ax + B)

t2

86435110264.

Question Number : 1 Question Id : 8643513421 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QT ST 53 SETH {1 £9F T4 o T PN A0 IS oW 9 TS 3 F9F 39 [ © AFEe 2 T
TEEH HZ | Wmmﬂtﬁmtsmond =, iﬁ&mﬁﬁ*ﬂﬁ‘ﬁiﬁﬂ:

Options :

(e + B)

t2

86435110261.

o 3
2(x + B)

t2

86435110262.

4af
( + B)

2

t
86435110263.

o 3
4 (o + B)

t2

86435110264.

Question Number : 2 Question Id : 8643513422 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
1L, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on
the four tyres are identical and g=acceleration due to gravity)

Options :

86435110265. -

2

m[ g =
86435110266. il

86435110267.

m| g
; Mg R

86435110268. . /

Question Number : 2 Question Id : 8643513422 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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m S99 ¥ WYE 91-7F @2 TS o Bherd R AT JEEE 57 FAGHE (G 1T FE K|
TfCZ (G S DR TeA (ET T BRT | T, (OO MOMATS AT a1 31 231 4rars Tureim
F, (lift) T 91 27 : (491 514G BRI 2R QI3 Ia1 SR AF g = TS F F99)

i

Options :

02
} ﬂ}
R

m{
86435110265. ‘

(i) W
Tl
I""’E R

IT{E
86435110266.

86435110268. !

Question Number : 3 Question Id : 8643513423 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

86435110269. 2400

86435110270, 1600 ]

86435110271. 9200 ]
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86435110272. 1500 ]

Question Number : 3 Question Id : 8643513423 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

400 K 9@ 800 K T 5@ 9 Ff4 &1 @51 #1405 3G9 oS 5&s 71fre FRT 1200 ] | oS0 5&e
T [T GG G 4 e =TT A

Options :

2,

86435110269. <

86435110270, 1600 ]

86435110271. ~

86435110272.

Question Number : 4 Question Id : 8643513424 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
a_

86435110273, 10 "™ T

3
86435110274, 2 <10 "= T

top

86435110275, ~
86435110276,

Question Number : 4 Question Id : 8643513424 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4TS WA 1000 *1F UFT G51 5la=2%4 TFS9[@ H T 2raTa1500 | Hamzeind SE4ae (Insulated)
FEATIZ 5 A fes@z AR SE-RUEA T4 Seom (T B wfearz w18 2 : (T §+[
ATMST =47 x 10 "7 H/m)

Options :

86435110273, 10 ' T
86435110274, 2X10 77w T
=T
86435110275, ~
86435110276, " ©

Question Number : 5 Question Id : 8643513425 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of

2x107 23 ms~ 1. The number of free electrons in each cubic meter of the wire is
Options :
p
86435110277, 2107

23
86435110278, + <10

: 25
86435110279, 025 % 10

25
86435110280, 2% 10

Question Number : 5 Question Id : 8643513425 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x10" 3 ms~! I7@EZ BT 10 A T 9F #a% 5 mm? #PTRNT GUF 999 WI(E | oW 4fe
TAGAS U] g1 AT =W 1
Options :
2
86435110277, 2107
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23
86435110278, 1 <10

; 25
86435110279, 025 %10

25
86435110280, 2 10

Question Number : 6 Question Id : 8643513426 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length I which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L, which lies in the positive z direction and the angular momentum of

M about point B is LB‘ The correct statement for this system is :

Options :

I A and LE are both constant in magnitude and direction
8643511028]1.

26435110282, L, is constant, both in magnitude and direction

86435110283. LB is constant, both in magnitude and direction

LB is constant in direction with varying magnitude
86435110284. g

Question Number : 6 Question Id : 8643513426 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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| T U TA2 AU OF T4 M SAN WIE AT OF A (@S FOEd 96 Wil M S
77 wora ¥aF AT OF JTFE ST 6 FE|I 4R @A @ TFEDE OF FhF @ o [@ T
TIFA oS Sk | &g A ACATE M T (FIioeF ©q0a9 L, e 471g z e wice e &g B A0
M T (FfoF Sq@s Lyl @2 TRGE AT wE {9 =

Options :
L. SF L, 5I10T I+
86435110281, ~A g TCAICA T+ 1 firef g |

86435110282, T NF (P TACTHTS L, 3|

T % W warsae L, &=
86435110283. fie BlaBTH

sifaqfde TwE e LBaﬁ'ﬁlm:
86435110284,

Question Number : 7 Question Id : 8643513427 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by [=1 | Sinwt I2 coswt. A hot wire ammeter will give a reading :
Options :
L+

86435110285. V2

L+ 1

242

86435110286.
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[+2

]
k3| -
e

[dt o

86435110287. \/

—
I

e

! [t

|
86435110288. V

Question Number : 7 Question Id : 8643513427 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T A4S 22 weeET 2wz [=1, sinwt + I, coswt | @bT 54T &9 @G (hot wire ammeter) T

L4

A

Options :
L+
>
86435110285. =
L+1
22

86435110286. “‘

86435110287.

86435110288.

Question Number : 8 Question Id : 8643513428 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of v ?
Options :

86435110289, 10-3

86435110290, 130

86435110291, 1-03

86435110292, 1-37
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Question Number : 8 Question Id : 8643513428 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OB TEHEICAEF TR 24 FET 499 (vibrational mode) TRy T T4 & 2T 7
Options :

86435110289, 10-3

86435110290, 130

.03

=1

86435110291.

B ¥

(=]

86435110292.

Question Number : 9 Question Id : 8643513429 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :
ab
b—a

86435110293.

ab
a+b

86435110294.

86435110295.

86435110296.

Question Number : 9 Question Id : 8643513429 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT a = b WHHT (b > a) GO FILAE TR IFA© 27, Tz of *[BE oI5 A 27 :
Options :
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86435110293.

86435110294.

86435110295.

86435110296.

Question Number : 10 Question Id : 8643513430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eren s s
A triangular plate is shown. Aforce F = 4 3 j isapplied at point P. The torque at point

P with respect to point ‘O and “Q’ are :

Yi

> X
Options :
2
86435110097, — 15 —20v3, 15— 2013
26435110208, 13 + 2043, 15 — 203

86435110299, 15 — 203, 15 + 2043

86435110300, ~13 + 203, 15 + 2043
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Question Number : 10 Question Id : 8643513430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q<= fagergea coff orysan 2= P R GBaw F = 41 3} o F4T (2l P s O uE

’Q%ﬁmﬁﬂ

YA

15—203. 15— 0.3

86435110297.

26435110208, 13 + 2043, 15 — 203

86435110299, 15 — 2043, 15 + 2043

86435110300, —15 + 2043, 15 + 2043

Question Number : 11 Question Id : 8643513431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two identical metal wires of thermal conductivities K, and K, respectively are connected in
series. The effective thermal conductivity of the combination is :
Options :
K Ko
K, + K

86435110301.

2K K,

K; + Ky
86435110302.
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Ky + K5

o

86435110303. el £
Ky + Ky
Ki K

86435110304 b

Question Number : 11 Question Id : 8643513431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e “AREIRIe] T K, OF K, T 7O A3 Q92 qgd Se BAREed A 90 (20%l @3
(TSRAENGE dod (effective) T+ @A 24

Options :
K Ko
Ki + K
86435110301,
2K, K,
Ki + Ky
86435110302.
Ky + K,
=
86435110303. oS B
Ky + K
K4 K
86435110304, i

Question Number : 12 Question Id : 8643513432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms ~!. The ball gets
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic
energy. What is the speed of the ball now ?

Options :

86435110305, 1.00 ms !

ri 1
86435110306, ++ mS

1
86435110307, 1441 ms
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1
86435110308, 19-0 ms

Question Number : 12 Question Id : 8643513432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

20 ms~ L W& 0.5 kg T T8 BT G2 THFB TS T 7 A2 J9AE WE| ITGHRIS FE0HT BT T4
B Ry tar) Ryed e 3 3 s ofe «wfeq 5% 7 owe ofs Fra «fen e v &
39 7

Options :

86435110305, 1-00 ms™!

A AT 1
86435110306, +3/ mS

; 1
86435110307, 1441 ms

1
86435110308, 19-0 ms

Question Number : 13 Question Id : 8643513433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm.  If the
speed of light in the material of the lens is 2x10% ms ~!. The focal length of the lens is
Options :

86435110309, SV €m

86435110310, 12 cm

86435110311, 12 cm

86435110312, 030 cm

Question Number : 13 Question Id : 8643513433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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OY FAGHA-UEH (99 (FHS U /T4 3 mm TF AH 6 cm| AW G W@ (299 Fhe
2 %108 ms— 1 99, (FoE wIfetwd] o9 I
Options :

86435110309, 20 €m

86435110310, 15 cm

86435110311, 12 €M

86435110312, 0-30 cm

Question Number : 14 Question Id : 8643513434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the sf_ngle ionized carbon has the same energy as the gmund state energy of

hydrogen atom ?
Options :
86435110313.

86435110314.

86435110315, ©

86435110316.

Question Number : 14 Question Id : 8643513434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS OFF FEIT @FECH FAT T2 (G ARGE TH-F9 OIS TFE *F g ?
Options :
86435110313.

86435110314.

86435110315, ©

86435110316.
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Question Number : 15 Question Id : 8643513435 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T ! and T?_ are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

£ases 18 :

Options :

86435110317.

86435110318.

86435110319.

86435110320.

Question Number : 15 Question Id : 8643513435 Question Type : MCQ Option Shuffling : Yes Is

.anlTl { I'IzeTz

Iy { no

: g FlTl { I'IzeTz

F, + B

.anlTl { I'IzeTz

1 lFl { I'Ize

I'IlTl { I'Isz

ny { Ny

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST T, O T, © 4T 701 STl FARAIEE (o1 el 1 (207 IS *&q (PILa o167 72 | F, o1
F,, m, 9% m,, n, 9 n, T LT AF ol 751Ed ACd Foge! Tar (degrees of freedom), =T ==

o[ WA | % 52 (ored e TRewr 277

Options :

86435110317.

86435110318.

86435110319.

.I'IlFlTl { I'IzeTz

I'Il { I'IZ

. ny FlTl { I'IzeTz

F + K

.I'IlFlTl { I'IzeTz

1 lFl { I'Ize
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. n 1T1 { I'isz

86435110320, 11 T M2

Question Number : 16 Question Id : 8643513436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic

oscillation become equal ?

Options :

86435110321, X~ T A
x=10
86435110322.
—_— jji
=
86435110323 V2
r"'L
x=—
86435110324. =

Question Number : 16 Question Id : 8643513436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR & TE AT G5 T oRfigE oieed sife e o e e = 0

Options :
86435110321, ¥~ T A
86435110322, ¥~
— jji
s
86435110323, V2
r"'L
X = ?
86435110324, =

Question Number : 17 Question Id : 8643513437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The output of the given combination gates represents :

A

B

Options :
86435110325, AND Gate

86435110326, VOR Gate

86435110327, VAND Gate

86435110328, “OR Gate

Question Number : 17 Question Id : 8643513437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a1 ColbIZa ALTATE SS0#5 6 :

A

B

Options :
AND ¢55
86435110325.

86435110326, NOR €76

86435110327, NAND 6

86435110328, XOR ¢1B

Question Number : 18 Question Id : 8643513438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

18/86



3/17/2021

An electron of mass m and a photon have same energy E. The ratio of wavelength of electron
to that of photon is : (c being the velocity of light)

(=)

¢ (2mE)"2

Options :

86435110329.

86435110330.

86435110331.

86435110332.

Question Number : 18 Question Id : 8643513438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m TI9 @51 SCAFA E 51 Fh 9 ar2 E A W(R| 30EgAq TN G0S T 74 SR
TIATE BT 1 (¢ CATZET (60)

Options :
5 E W'!__.-,:I
£EJ

c (2mE ]'13

86435110329.

86435110330.

86435110331.

86435110332.

Question Number : 19 Question Id : 8643513439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=10.01 cm)
Options :

86435110333, 508 cm

86435110334, 5:26 cm

86435110335, 5-0% cm

86435110336, 530 cm

Question Number : 19 Question Id : 8643513439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT AT TS GO S (FFA 0.2 mm AT 0 o AR ACZ Ao ASTS 7 AW

ST ‘0 8.5 con W 8.6 cm q &S TR, SIHAA 9@ 6 © [ Wik, (OF W@ 9% TG =
cm! (F=ST 591 =0.01 cm)

Options :

86435110333, 508 cm

86435110334, 526 cm

86435110335, 004 cm

86435110336, 5-36 cm

Question Number : 20 Question Id : 8643513440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v,) for the nth

orbit is given as:

Options :

86435110337, 'n = "

20/86
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g B
86435110338. "

86435110339.

86435110340.

Question Number : 20 Question Id : 8643513440 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tt TG (E RN n O FHEFUAS G5 TAG LA 617G I WCE, (I0% n T FHHUT 0T 3T

(v,,) e 3
Options :
86435110337, n © T
i) o1
86435110338, ™
i) or i
n 5]
86435110339. =
1
Un X —
86435110340. n

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Physics Section B

864351230
2

Online
Mandatory
10

5

20

Yes

1
864351230
Yes
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Question Number : 21 Question Id : 8643513441 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For VHF signal broadcasting, ~ km? of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take 7 as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513441 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VHF A¢Fe F5Ed qd, IME 95T 0o Moe ATF, 30 m SHed 4F G- B8% AAH
km? 0T8T CFE OJC F4@ | 44 ARET APTE 6400 km| (RGO T AMCA (GRS
FN) (w= 3.14 =741

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If 2.5x 10 ~® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface
is W/ecm?. (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

22/86
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Question Number : 22 Question Id : 8643513442 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

30 c? FEE G4 THERES (non - reflecting) #S 40 5 797 4fF @51 o12d Twea2 2.5x10 N
51T 5 WA | @ *[@4 5 S90S (o12q =If& Sfeas 20 W/cm? | (b #fefmeamta
(oGRS )

(4 CETET ST I AT CER I TErESIid e (20%)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Four identical rectangular plates with length, I=2 cm and breadth, b = cm are arranged

3
3

CIv _ _ B | - ,
as shown in figure. The equivalent capacitance between A and C is Tﬂ The value of x is

(Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513443 Question Type : SA

23/86
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Correct Marks : 4 Wrong Marks : 0

S (WS 4909 T, =2 cm S 28, b= % cm 9 52 Ay GTF% THeFE AT "oEET

tzr®l A ¥ C T 5@ FAgen ﬂ?ﬂ?l xqATH | (PREGER #feamta oA
1)
A |B C D
-'(—)-l-'(—b-*(—bl
d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513444 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The equivalent resistance of series combination of two resistors is's’. When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643513444 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

751 @14q A AT ANGE (@Y ‘s’ | @eq PEes ANEASed WG 2, FAGAT (@14 T p’ |
TMs=np &, (W n I FFeoT T2 ___ | (FREGST “ffTeamEa CoMbFaer 3 4)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643513445 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pJ.

(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513445 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@b CAThaIT e, ATerdd WEd [eard V=12 V [Zala @b FeaE A qqaF, Tq (958
C = 14 pF, TGS 741 (208 | TACHAH! fe @ften 3@ k=73 @3 “T6aes C2b “oqeeiq Tere
CITIAZ 7T (28| (O #Toqe=a T5S CUbT IF F95 qae e p] T@ Se1- Pt
(T FEA | (TFICT THer 1% e 4a)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513446 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643513446 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AT AEE (@ 10 29 e 27 ©9 AT SfAFT T APT1EF (R=6400 km) km 37T
iy FALFHS FEF Ff4|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513447 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions h}-' the truck engine durf_ng this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513447 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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26 seconds T 45T T4 5FE (FEF TH 900 rpm I #fa1 2460 rpmf?'f?{f% o9 (e €2 FREES
T 3fgea ofa@em WA = a

(¥ = =1 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
The ratios of time period of oscillation of the two SHM is Tl;‘frf = \.E , wWhere value of x is
! d

(Round off to the Nearest Integer)

LELET BT L

00000
00000

Fig 1

Fig 2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 28 Question Id : 8643513448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ATSTHA e FaF k T WF M 49 TAIS 7500 S99 [ Pefe Bae (ear qane 991 (2rz| Ba1 e

PrEea «br (7yed t2rz WE 57 2 © BRed @as ALAE (R Sa (2| TAG e “RgE (head
(I RGP W s = X, A x T | (Frebes Aebie=mtar coThaae <)

R ES ISR SONEESF IR

0000
VOO0

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,

(1) aring

(2) adisc

(3) asolid cylinder
(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slippf_ng simultanenusl}-'

from the top of the inclined pla_ne. The bod}-' which will reach first at the bottom of the

inclined plane is

[Mark the body as per their respective numbering given in the question]

o '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513449 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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31712021
OTF% ©F ‘m’ TF A ‘R’ T @3 B0 9%,
(1) «or=ns’
(2) @B
(3)  @BT CoMBI et
(4) @BT CoITOT (AT &
G (A TEE A S @ ATTEed e aeife Rt W e
TZFE Seee SfeT AT (AT 6T 2 |
[&FoTET T8 2R W, e Sia B )

B '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in figure. The coefficient of static friction between the two blocks is —. Then the

7

maximum horizontal force that can be applied on the Ia_rger block so that the blocks mowve

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
m
F
M EE—

Lo B B
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643513450 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q3 FFSF TR (GIETe Bae (RSa 4T [T 7FF (m=0.5 kg W® M =4.5 kg) 7&a (x|

3 3 3 .
TAITG! WWWW@WWF | ATS FF GoI GTFACS! SIS FE T9 0T TS AFCHIS WA #T
AAH SN e NI (FEbew setmemia ieae $41) [g=9.8 ms ™2 AT |

m

F
M —>
£ el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351231
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351231
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643513451 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.

The shape of this molecule is :
Options :

planar triangular
86435110351.

86435110352, | snaped

86435110353, ~CoSaw

86435110354, Tigonal pyramidal

Question Number : 31 Question Id : 8643513451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a5 S AT (FEE HRAAGE [0 G AL H(E T (ST GFF A I | 9T TEF TGO :
Options :

86435110351, ~TNoend [FgETPH

86435110352, 1-FIA

86435110353 T A
86435110354, SR 7 T

Question Number : 32 Question Id : 8643513452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

86435110355, aerosol

86435110356, sclidsol

86435110357, [oam
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86435110358, &

Question Number : 32 Question Id : 8643513452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GG FEE, T’ 5T (918 WA T ZH b7 FPT, TF (FET TT &7 :
Options :

86435110355, “CT=e
86435110356, Fo &A1

86435110357. o

86435110358,

Question Number : 33 Question Id : 8643513453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

86435110359, F'> C1> Br > 1

86435110360, <1 > F > Br>1

86435110361, <1 > Br>F>1

86435110362, 1~ Br>Cl>F

Question Number : 33 Question Id : 8643513453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

128 (G4 A 929 AT @ §E F4 T9F (absolute) I TH
Options :
86435110359, I > C1>Br>1

86435110360, <1 > F > Br>1
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86435110361, <1 > Br>F>1

86435110362, 1= Br>Cl>F

Question Number : 34 Question Id : 8643513454 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0
it lm oo
400+ 03 ¥ E-Cuzﬂ
200
~aFel
" = 1?6*0 ; C+ 0, CO,
o mals
'f ‘.4"1‘:03 2C,
Y .- j
g D000 g2x0 220
g -600 {L.kaﬂ']'
9 700 R
T -B00 - .ﬂﬁﬂpg MF
800 A3t 7
o .a-'r?-mgo
1000} g+ 0
1100
1200+
: L ' | 1 L 1 | | I
o= 400°C B0 C 1200°C 1600°C 000°C
273K 673K 1073 K 1473K 1873 K 29273 K
—— Temperature
Options :
86435110363, AG < 0 and decomposition of the metal oxide
AC > o .
R6435110364. AG > 0 and decomposition of the metal oxide
AG =0 and melting or boiling point of the metal oxide
86435110365.
86435110366, AG =0 and reducton of the metal oxide

Question Number : 34 Question Id : 8643513454 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CRATeY S 2210 A1, (T Ahey e fbas, FU@ T5E

0
-100—
ACu + 03”_" ?'CHED
=200 =
pFe-
300D = 'FG'YD?- Aﬂ,—*m:

——> AG"/kJ mol” of O,
-L‘] 1
g &
[
=
3
X
Q
A :. O

-Sm T zfﬁP}ﬂOa
800 438
H_,r.zmgﬂ
lﬂm T "Z,ME*D]
1100F
1200
' L ' I 1 1 I | | I
o= 400°C q2o0RC 1200°C 1600°C 000°C
273K 673K 1073 K 1473 K 1873 K 2273 K
——= Temperature
Options :
86435110363, AG < 0 I 417 ZTq ReareT
26435110364, AG > 0 WF 41g T TS
86435110365, AG =0 R 4Tg THITT T [ TLAF

86435110366, AG =0 TIF 415 SARTT e

Question Number : 35 Question Id : 8643513455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The INCORRECT statement(s) about heavy water is (are)
(A) wsed as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
86435110367, (&) OnLY

86435110368, \B) 0Ny

86435110369, () only

86435110370, (D) and (D) only

Question Number : 35 Question Id : 8643513455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
STy #Teie e wreg ofE (TfewEmd) 24 ;

(A) FieFm Rire T23s & Teed 391 =

(B) T (fertilizer) STAIeTe TA-Teoa ZHICH cofram TR
(C) RfEae Tk ST e aeg[E F41 2|

(D) #etE @ *[AAPes F4F T T+

e Aeem @ wa e T Tfeed
Options :

86435110367, (©) T4

86435110368. oKL

86435110369. B Ll

(B) =< (D) T1&
86435110370.

Question Number : 36 Question Id : 8643513456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

86435110371, Cs* > Rb* >K* > Na*

-t b ; gt
86435110372, Na' > K* >Rb* > Cs

86435110373, K >Na* >Cs* >Rb

86435110374, Rb* > Na* >K* > Li*

Question Number : 36 Question Id : 8643513456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ATE SEAET ARFRTed wE &9
Options :

86435110371, Cs* > Rb* >K* >Na*

t t b —~_ 4
86435110372, Na® > K" >Rb™ > (s

86435110373, K~ > Na® >Cs™ >Rb

t t t .
86435110374, Rp~ > Na® >K* >1Li

Question Number : 37 Question Id : 8643513457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
Options :

CIF
86435110375. 3

86435110376. PCl;

86435110377. G

S 4
86435110378,
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Question Number : 37 Question Id : 8643513457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fermfefe st @3 2% w19 ZETe SR 719 e 2
Options :
86435110375, <113

PCI;
86435110376,

86435110377. NF;

86435110378. SFy

Question Number : 38 Question Id : 8643513458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

86435110379. 5.0

86435110380, °-2©

)
86435110381. Tk

86435110382, “°T°

Question Number : 38 Question Id : 8643513458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
51 TG 4y SR, T AR AT 25, O1F A9 §he 9o TE pEe @wad T4 (BM) F 2
Options :

86435110379. 5.0

86435110380, °-2©
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86435110381. 392

86435110382. =

Question Number : 39 Question Id : 8643513459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :
86435110383 Both statement I and statement 11 are false

86435110384 Both statement I and statement 1l are true

86435110385. Statement 1 is true but statement 1l is false

86435110386. Statement 1 is false but statement Il is true

Question Number : 39 Question Id : 8643513459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS ol O W 2T

e IR AAHHGE 573 K U8 5149 FEra #Brieaa To16 S5 Fd|
11 O A SR B TEs D e W SepEad AFheq |
8%9q TEq e, AHIRSlT TS Teth arie e e e

Options :

86435110383, S 1 T BF& 11 TG <07

86435110384, IS | TR Bf& 11 qCa! 57

86435110385, BT 1 779 % T 11 =pTey
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86435110386, 1% 1 711 9 ©f 11 797

Question Number : 40 Question Id : 8643513460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

86435110387, “moke, fog and O,

Smoke, fog and SO,
86435110388. =

Smoke, fog and I\J;D3
86435110389. <.

Smoke, fog and CH,=CH - CHO
86435110390. <

Question Number : 40 Question Id : 8643513460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aeas g@a «br i g'A
Options :
T, Fae oF
86435110387. 4 o

86435110388, s T S 50,

¢, Fa = NLO
86435110389. CEE

i, $9&1 WF CH, =CH — CHO
86435110390. 2

Question Number : 41 Question Id : 8643513461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1:  Retardation factor (R) can be measured in meter/centimeter.
Statement 11 : Rf value of a compound remains constant in all solvents.

Choose the most appropriate answer from the options given below :
Options :

86435110391, Both statement | and statement 11 are true

26435110392, Both statement I and statement 11 are false

86435110393 Statement 1 is true but statement 11 is false

26435110394, Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643513461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TETS ol O T 20 ¢

SfEl:  wwEee @ (R) S/ mEeEs e FRT S|
SE11: @b (@ R, T T S WIS AT ACF |
S TEEer[ WhRelE S TEalT ATE SHed

Options :

86435110301 IS | ST Bf& 11 TRGT Ty

86435110302, 1S 1 S & 11 LG wPTe)

86435110393 & 1 7197 5= ¥f& 11 wprey

06435110304, I1% 1 7T 5 T 11 7o

Question Number : 42 Question Id : 8643513462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :
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86435110395. :>
86435110396. :>®
86435110397. Q@
86435110398. ©

Question Number : 42 Question Id : 8643513462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferfeie comhT @bt @3 cIfios et ?

Options :

86435110395.

vlw

86435110396.
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86435110397.

86435110398.

Question Number : 43 Question Id : 8643513463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

T e

(Major Product)

Product “A” in the above chemical reaction is :

Options :
Br
CH,
86435110399. :
pr CH;
86435110400, CHy
Br
CHj,
86435110401. H;
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CHj

86435110402. CH;

Question Number : 43 Question Id : 8643513463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s
4 (o wTeEa)
&o[qq AT [AfaTTe Tremar “A” 3'F :
Options :
Br
CH,4
86435110399.
Br CH,
86435110400. CH,
Br
86435110401, H;
Br
CHj,4
86435110402.

Question Number : 44 Question Id : 8643513464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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+ NaOH

L 4

The above reaction requires which of the following reaction conditions ?
Options :

2

86435110403, 025 K, Cu, 300 atm

26435110404, 273 K, Cu, 300 atm

86435110405, 023 K, 300 atm

86435110406, ~/ > K 300 atm

Question Number : 44 Question Id : 8643513464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cl O—Na*

+NaOH >

sv@e T [AfEas ware M @wrs e 5% Rera)
Options :
86435110403, 023 K, Cu, 300 atm

86435110404, 273 K, Cu, 300 atm

86435110405, 023 K, 300 atm

86435110406, °/° K 300 atm

Question Number : 45 Question Id : 8643513465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

: . = g, I
86435110407. 4-Methyl pent-3-en-2-one
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2 4-TH ¥ =
26435110408, > 4 Dlmeth}l pentan 3-one

Y ¥ r
86435110409 2 Meth}l C}clnhexa_tmne

'-'f’_ § T T - ; 7
86435110410, - Meth}l C}clnhexane carbaldeh} de

Question Number : 45 Question Id : 8643513465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TARDIZASAZT T 5 €51 FAET 7
Options :
26435110407 L0 CFB3FA2- W'

86435110408, 2SRRI (BRI

86435110409, 2 O1= BIRE (T T

86435110410.

Question Number : 46 Question Id : 8643513466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hoffmann bromomide degradation of benzamide gives product A, which upon heating with

CHC 13 and NaOH gives pmduct B.

The structures of A and B are :

Options :
O O
NH, NH,

CHO

86435110411, Br Br
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NH, NC

A = B —
86435110412.
NH, NH,
A — B — CHO
86435110413. Br Br
NH, NH,
A - B — CHO
86435110414

Question Number : 46 Question Id : 8643513466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(AANIZEE THCA T ANRE G f[afes Wy arewy A, % CHCL, W% NaOH 3 #51@ s/ a"

T4 M Tewaw Bl

A ST B T 515 TATEHC :

Options :
O O
NH, NH,
CHO

A — B —

86435110411. Br Br
NH, NC

B = e

86435110412,
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NH, 2

NH
A — B _ éj/fllﬂ

86435110413. i Br

NH, NH,

A - ©/CHD
86435110414.

Question Number : 47 Question Id : 8643513467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Eth}-‘lene GI}FCDI

{J'CEHE > A

HT (Major Product)
The product “A” in the above reaction is :
Options :
OH

P

O O

OCsH5s

86435110415.
0
St
OH

N

86435110416.

/ OCoHs

OH

86435110417.
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QO
DM
OCsoHs

86435110418.

Question Number : 47 Question Id : 8643513467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

CIECEEE i
CFCEHE iro e - A

s+qq fafeFare srewar “A” 39 .

Options :
o o
OCoH5
86435110415
0
>
86435110416, OH
N
K//DCQH5
86435110417, 22

86435110418.
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Question Number : 48 Question Id : 8643513468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :

C.H.COCl+C.,H.NH C . H.CONHC.H
86435110419, & 2 i R I 6 5

CH-CH,CN _Hl . C.H.CH,CH,NH
86435110420, & 5 277 T 7 M6 52T

86435110421, CetsCHClt NHy —— CHSCH,NH,

86435110422. CeHsNH, H9 , CH;NH;Cl

Question Number : 48 Question Id : 8643513468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferfee comch! fafemm «a' 7 aaeeg Trae ?
Options :

26435110410, @ 18-OCH+ CeHNH, —— CgH CONHCH;

CH.CH,.CN _ Ml . C H.CH.CH.NH
86435110420. & 52 —Ls CHsCH,CHyNH,

C.H.CH,Cl+ NH C H.CH.NH
86435110421, © ° 2 - SCNN e Do Al

JH.NH, _HA . CH.NH,C

i
86435110422.

Question Number : 49 Question Id : 8643513469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

Competitive inhibitor binds to the enzyme’s active site
86435110423, T }
36435110424 Allosteric inhibitor changes the enzyme’s active site
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6435110425, Allosteric inhibitor competes with the enzyme's active site

86435110426, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643513469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8y TEIE grgsfE S, T S Bare 4

Options :

86435110423, M INSTLAE TS TSN A TS @SS o4 |

86435110424, V71 (B THRIRICH @EEEa FEFH g AT T

86435110425 71 (B % WA SRR A FE F5 AfeEeg #d |

86435110406, - SCITSLAS R G (B4 greTe a1 4|

Question Number : 50 Question Id : 8643513470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the f nllnwf_ng is correct structure of tyrosine s

Options :
COOH
H,N H _OH
86435110427.
COOH
H,N H
OH
86435110428.
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COOH

H,N H

OH

=

86435110429.

COOH

H,N

OH

st

86435110430.

Question Number : 50 Question Id : 8643513470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T W (@TIoT BiEa fea g oo 7
Options :
COOH

HoN OH

&

86435110427.

COOH

H,N
OH

5

86435110428.

COOH
H-N I

OH

-

86435110429.
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COOH
H,N H
OH
86435110430.
Chemistry Section B
Section Id : 864351232
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351232
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The mole fraction of a solute in a 100 molal aqueous solutionis _ x10
(Round off to the Nearest Integer).
[Given : Atomic masses: H: 1.0 u, O : 16.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643513471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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100 TS AW BG4S, <5l FET TH SOS TH %x10-2)
(Frabox =re F2me) |
[T =MCE : AR ©9: H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of

carbon dioxide in a 10 L vessel at 27°C is kPa.

(Round off to the Nearest Integer).
[Assume gases are ideal, R=8.314 | mol 3 S

Atomic masses : C: 120 u, H: 1.0 u, O: 16.0 u]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C © 10 L 1@ <57 6.4 g fCom W 8.8 g FHA T2 WAL <51 SPTq ColRy ey T 5@ T
kPal

(fFrebeT Tre 72Te) |

[4% coTman, comerard wme, R=8.314 ] mol 1 K~!

ARIEEF &9 : C :12.0u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 53 Question Id : 8643513473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

G5 TAEET n=4 TIF my=—3| 3 SEELALGIS CATGEE o B9 HeAN
(FabeT T4 72Ae) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513474 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

L and

The standard enthalpies of formation of Al,O; and CaO are —1675 k] mol
635 k] mol 1 respectively.

For the reaction

3Ca0 + 2Al — 3Ca + Al,O; the standard reaction enthalpy _‘trH{] =

(Round off to the Nearest Integer).

K.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 54 Question Id : 8643513474 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 59 GTAFA ALO, WF CaO T T &'& FAEH — 1675 k] mol ! W% — 635 k] mol !
3Ca0 +2Al — 3Ca + ALO,

o i@ gma=a A HO = K].

(FrebeT Trg 7eTe) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513475 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.

The molar solubility of oxygen in water is __ %1072 mol dm 3.

(Round off to the Nearest Integer).
[Given: Henry’s law constant = K;;=8.0 <104 kPa for O,.
Density of water with dissolved oxygen = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513475 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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oleie FIEE 03 9F SEEe T S/ Te 4T SPT e 519 20 kPa Te9E T HAl-ie WG
T'HE gaege ' H %105 mol dm—3 |

(FFGoT =14e ALATS) |
Halge WHGeE GCe #le9 97 = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513476 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0 x10°) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %1072 (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513476 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.0L, 0.1 MHCI ®&® 0.01 7519 @51 97 afe® HA (K, =2.0 x 10~ ©) fzgema 2 | HA T s
T %1075 | (FrFoow o4e ALAT) |

[HA 7215 TS (/a1 SR Afaeaa arze Fi4|

ﬁmﬁfﬂ’mﬂ?{ﬂ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 57 Question Id : 8643513477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe2t in acidic medium completely reacted with 20 mL of

_______ ~__x1072M. (Round

0.03 M aqueous Crzﬂ;z-_. The molarity of the Fe?" solution is

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.03 M 720 mL &8 Cr,07 7@ 15 mL Fe? * 7 58 ¥a 95 TR1wre 7opfona ffwr #a1 Fe? !
w49 ARG TA x10-2 M1 (FFbea 52g A2re) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513478 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is  x10~3g"1 (Round off to the Nearest Integer).
[Given : log;32=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 58 Question Id : 8643513478 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q51 #UT THq [AFE 570 s T AEE 32% AiEaE (@ | @3 [/EFAeE 9 FEFq 1=
x10-3 s~ 1| (F@bew =4 TRATT) |

[ =1ce : log,2=0.301, In10 =2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513479 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of “A” with excess of AgNO, in aqueous
medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513479 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4T FEFALF T4 TG +%q IRAGTS 5199 FfAra Afemms Rigems «mef ‘A Tes@ 21 1 mol ‘A’

T weE AgNO, T #91® TaiE Taae e s mol(s) Ag! (Fabew =re
HALATS) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 60 Question Id : 8643513480 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,S0,

L.
Ll

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reactionis ____ %. (Round off to the
Nearest Integer).

(Given atomic mass : C:120u, H:1.0u, O: 16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513480 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,
HNO;
H,S0;

@ IS, 3.9 g ARG MEGES M 4.92 g TEFRAT | S+ RITE=TS = TR A2

% 1

(FEbeT =r4e 7Ame) |
{;ﬁﬂ‘.'ﬂﬂ‘-‘?z . #rquTefEas =9 : C - 120u, H: 10w, O :160 u, N : 14,0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
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Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351233
5

Online
Mandatory
20

20

80

Yes

1
864351233
Yes

Question Number : 61 Question Id : 8643513481 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a school, there are three types of games to be played. Some of the students play two types

of games, but none play all the three games. Which Venn diagrams can justify the above

statement ?

P Q

Options :

86435110441, L and Q

86435110442, L and R

86435110443, 2 and R

86435110444, None of these

R

Question Number : 61 Question Id : 8643513481 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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G fammerae cyfer o[ Ry cuet oce | gl wra2 42 439 o¥e 10, 9 s fefafay ove
ICATE | (FDT (SAbAS QHTATE TIE0o TS F4E4 ;

DW

Options :
P = Q
86435110441.

86435110442, L ¥ R

86435110443, @ TFR

86435110444, ST €IOIS T

Question Number : 62 Question Id : 8643513482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +1iz) is :
Options :

1
86435110445, 2

Iy

86435110446.

Yy

86435110447.

=

86435110448.

Question Number : 62 Question Id : 8643513482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
62/86
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A(2), B(iz) 1% C(z + iz) Mg (A2 fogea #7127

Options :

2 |

E z {22
86435110445,

i

'} ra
86435110446, 2

x

2
86435110447
86435110448, 1

Question Number : 63 Question Id : 8643513483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r e oy
(0 Sin 5

If A=

. . :
and det| A :11 | = (), then a possible value of « is :
i /I

| sino 0}

Options :

NE

86435110449.

'__,_}l:'l

86435110450.

o |4

86435110451.

ER

86435110452.

Question Number : 63 Question Id : 8643513483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. ([0 sina ) ' s, 4o .
3 A= oF det [ AT~ —I| =0, (T « T A TT2T;
| SInc 0) \ i)

Options :
63/86
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NER

86435110449.

uélﬂ.

86435110450.

o a

86435110451.

SEN

86435110452.

Question Number : 64 Question Id : 8643513484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The system of equations kx+y+z=1,x+ky+z=k and x+y +zk= k2 has no solution if k is
equal to :
Options :
86435110453.

86435110454.

86435110455.

3

86435110456.

Question Number : 64 Question Id : 8643513484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
kx+y+z=1, x+ky+tz=k ¥ x+y+ zk = k2 HAF HNALEE FAL TATF A k 7 o7 -
Options :

86435110453, ©

86435110454,

86435110455, 1
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2
86435110456. =

Question Number : 65 Question Id : 8643513485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team ‘A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52

single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :

[E]

86435110457.
86435110458.
86435110459.

86435110460.

Question Number : 65 Question Id : 8643513485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ VBT 7 G A1 ST n ALATE (T SIS WE B Wl 4 &1 7 91 I 6 Tl (RETAE sidel
I @3 TR AES IF 52 B (45 Y9 IW @W 7 913 7 99 [AF¥0E AF @A @EAEE [FHrE
CATA, (@ n AW 29

Options :

3

86435110457.

86435110458.

86435110459.

86435110460.

Question Number : 66 Question Id : 8643513486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the fourth term in the expansion of (x 21982 97 s 4480, then the value of x where x € N is

equal to :
Options :
86435110461, |
2
86435110462. ~
3
86435110463.
4
86435110464.

Question Number : 66 Question Id : 8643513486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
W (x+x1982 %)7 7 @S 5o “MI61 4480 2F, (9@ x IAFAIW 29T T xe N
Options :

86435110461.

I3

86435110462.
86435110463.

86435110464.

Question Number : 67 Question Id : 8643513487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 4 ig :
1
54 i
4 4 g
54
4+ .. i
Options :
=
2+ =430
86435110465. z
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2+ 2 30
86435110466, Vo

5+ 2.30
86435110467. 5

4 |-%irJ§ﬁ
86435110468. &

Question Number : 67 Question Id : 8643513487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 4 T AN 3T
1
54 ]
4 4
54 .
44 ... s
Options :
I8 R T
86435110465,
e
2 + —+/30
86435110466. 5
»
5+ =30
86435110467. 2
.
4+ —+/30
J5
86435110468.

Question Number : 68 Question Id : 8643513488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If cot~1{a)=cot~12+cot =18 +cot =118 +cot~132 +..... upto 100 terms, then « is :
Options :

86435110469, 1-00
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86435110470, 101

86435110471, 102

86435110472, 1-03

Question Number : 68 Question Id : 8643513488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A% cot (o) =cot 12 +cot™ 18 + cot " 18+ cot ~ 132+ ..... 100 ©F #WCe, (B o 29 :
Options :

86435110469. 100

86435110470, 1-V1

i
86435110471, 102

86435110472, 1.03

Question Number : 69 Question Id : 8643513489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of y= 51087 jg

Options :

' 1

x= 5]:353_;
86435110473.

i

s 'l.l"]UES
86435110474. ;

x=>5logy
86435110475.

x :H]DES
86435110476.

Question Number : 69 Question Id : 8643513489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
y=>58% g #ferea 277 :

Options :
1
x =57°8Y
86435110473.
1
x=y log5
86435110474.
x = 5logy
86435110475.

. Jdogh
86435110476, XY=V 8

Question Number : 70 Question Id : 8643513490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e DY
The value of LM cos™ \x — [xI')

sin” 1 (x [1]2'
x—0"

3 , where [x] denotes the greatest
R

integer =X 1s:

Options :
o
86435110477, =

86435110478, U

SIER

86435110479.

86435110480.

Question Number : 70 Question Id : 8643513490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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lim COS (x [1']2] - sin” T (x [1]2}'
x—0" .3
x—x

TS [x] = x T 7 AT x O TE S1P TS FALAN L

, AT % ;

Options :
w
86435110477, *

86435110478.

Nlﬂ.

86435110479.

86435110480.

Question Number : 71 Question Id : 8643513491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for « € R such that

sin™x

gla) = dx

cos®xy + sin®x

| ey L5

Options :

86435110481 g(w) is a strictly increasing function

86435110482 g(w) is a strictly decreasing function

1
g(«) has an inflection point at o« = >
86435110483.

g(w) is an even function
86435110484.

Question Number : 71 Question Id : 8643513491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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sin®x
dY 5 g(o) T o€ R T A G5 @D T T -

gla) =

cos®x + sin®x

| ey L3

Options :
86435110481, 8(c) FE LT 7o

) GFHZ TR T
86435110482, ()

| :
gl) F a = 2 g9 inflection & =Ncg
86435110483.

86435110484.

Question Number : 72 Question Id : 8643513492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

%zxy 1+x—y;y(0)=0:

Options :

=
——
=l
S
|
m
[
i

86435110485.

86435110486.

86435110487

s6435110488. V(1) =1

Question Number : 72 Question Id : 8643513492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% =xy — 1+ x — y; y(0)=0 S&Fe] FASILOS 1% FAF y(x) T AT A9 (BT 7 ;
Options :
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13

.y(1}= 3

1
86435110485.
: } g
(1) = el 1
86435110486. J{
1 -1
y{l] — QE e 2
86435110487.
y(1)=1
86435110488. j{ )

Question Number : 73 Question Id : 8643513493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+2 =0, then the centre of the

circumgcircle of the APOR is :

Options :

86435110489. (1, 4)

>
86435110490. © 2)

(~1,0)
86435110491.

(2, —2)
86435110492,

Question Number : 73 Question Id : 8643513493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

PQR fagers P =% Q 47 7519 F1ed BT (2, 4) O (4, —2) | W PR 9 779 T@eaq AqSqe
2x —y+2=0 2q, (H¥ APQR fageq “farawa gs 29 :
Options :

86435110489, (1 4)

(0, 2)
86435110490,
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86435110491. =1

7 2
86435110492. =54

Question Number : 74 Question Id : 8643513494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle
lies on x — 2y =4. Then, the radius of the circle is :

Options :

86435110493, 53

86435110494, 5V

86435110495, 4V5

a5
86435110496, °V°

Question Number : 74 Question Id : 8643513494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x —y+1=0 T3 I8 @B (2, 5) FGe quE =HF WF JEq (@FUD! x - 2y=4 (4@ SIS
AT | TS0 JS(OW (FH 2T

Options :

86435110493, 2V3

86435110494, SV

o

86435110495.

86435110496. W5

Question Number : 75 Question Id : 8643513495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2+y*~10x— 10y +41=0 and

x2+y?—16x— 10y +80=0

Options :

86435110497, Circles have two intersection points.

26435110498, Poth circles pass through the centre of each other.

86435110499, Both circles’ centres lie inside region of one another.

86435110500, Distance between two centres is the average of radii of both the circles.

Question Number : 75 Question Id : 8643513495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2+ y2-10x— 10y +41=0 = 22+ 12— 16x— 10y +80=0 ¥ &4v& J& [HE AT 7 SSHI
M Tl

Options :

86435110497 IS 0T 75T TR WICE |

86435110408, T9% I8 0% &5 ARG TFHCA 1T |

86435110499 U9 JEq (FHCAR €51 SO TGS HAEETS ATCF |

(3% 7519 NG9 79F [0 IS TG BT T |
86435110500.

Question Number : 76 Question Id : 8643513496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
15 :
Options :
86435110501, % " Z=0

86435110502, ¥ T32=10
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86435110503, X 1 3z=0

86435110504, X ~z=0

Question Number : 76 Question Id : 8643513496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y- SE TULF (1, 2, 3) a @@ Tees Waead 29
Options :

86435110501, X T2=6

x+3
86435110502.

86435110503.

86435110504, X

Question Number : 77 Question Id : 8643513497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q # (~p)) is a tautology, then the Boolean expression
p # (~q) is equivalent to :

Options :
86435110505. F 4

i s
86435110506. : :

86435110507. 17 P

86435110508, 1 P

Question Number : 77 Question Id : 8643513497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A (p = q) = (q * (~p)) I AMCH 5T 47* T 2, (B0 p + (~q) I AR TG 27 -
Options :
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—
86435110505. A

86435110506, F —~ 4

86435110507. 17 P

86435110508, 1 P

Question Number : 78 Question Id : 8643513498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i —3j +4kand b =7i + j — 6k.

— A )

®x b, ?{; |2}" | ;( = -3,then r -124 '5; + k/is equal to :

e — ——
r

If r Xa=
Options :

86435110509.

86435110510. 10

86435110511.

86435110512, 1°

Question Number : 78 Question Id : 8643513498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- s

@ TA a=2i -3j+4k WF b=7i+j-6k | J

n-:L.

;"\

5

Tolit2j+k)=-3cmm T (27 3] + k) wTa:
Options :

86435110509. 8

86435110510. -

12
86435110511.
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86435110512, 12

Question Number : 79 Question Id : 8643513499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

5

12
86435110513,

4
86435110514, °

17

86435110515, 36

86435110516.

Question Number : 79 Question Id : 8643513499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o1 e wieneal 2@ | I qEel “ifeq a0T 99 (face) WI0Z T4 RAMCAE 1, 2, 3,5, 7 9= 11 (0%
A I FHLAWATT AWFA 8 T A A 8 TLF FA 4T WA G 57
Options :

5

12
86435110513.

4
86435110514.

17
86435110515.
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Fa | =

86435110516.

Question Number : 80 Question Id : 8643513500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L_ |- tan 1|”f__l”| s -
\31)

i
The sum of possible values of x for tan 1{1’ + 1) + cot 1| :
WX J

Options :

86435110517. 4

86435110518, 4

86435110519.

86435110520, 4

Question Number : 80 Question Id : 8643513500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g - ) ’ \
tan !(x + 1) + cot 1| l | = tan 1|i| T I0T x F AR T4 (THFA 29
\ X l A ! 3‘]./'
Options :
33
4
86435110517.
32
4
86435110518.
31
4
86435110519.
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86435110520.
Mathematics Section B

Section Id : 864351234
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351234
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy yz, where 3x+4y = 100 and

4x+3y =75 forx = 0andy = 0is _
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
100

Question Number : 81 Question Id : 8643513501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z=6xl,r | L,rz, HNFTNGTE = q A T 5T :
T8 3x+4y = 100 =<

dx+3y = 75,
x=0
y =093 _ S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643513502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- : : _
If A= [; :], then the value of det(A%) + det(A'0—(Adj(24))"°) is equal to _
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
R CE RS

& % 0 ' -
I A= {“ J, @@ det(A?) + det(A10-(Adj2A)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%762 is divided by 17, then the remainder is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513503 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

I (2021)3762 F 17 @ ©F F9 =, (W TAE 2T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513504 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

1,4

If the function f(xj —

is continuous at each point in its domain and

f(0)= %, then k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513504 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o oy cnS(Sin:ii OSY gt enfirma e e .f(m . %r S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513505 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If [ - | represents the greatest integer function, then the value of

\F
‘Jl_lt[[:zz] cosx}dx is

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513505 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

.ll?

7
T [ - | <51 SRS TS Fo ITE, (O0F v[ [[12] cnsx}dx FIwTT
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513506 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points I, and P, while considering point P’; on one

circle and point P, on the other circle for the given circles’” equations
x2+y2-10x— 10y +41=0
x2+ 12— 24x 10y +160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 86 Question Id : 8643513506 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

#%E T A

x2+y?—10x - 10y +41=0
x2+y2—24x - 10y +160=0
T5M@ ANT P, W P, [ 567 @51 < 51 89 @+ 4! 7 3fe faraean sface P, o P, fam g5/
TEe ZoTed /ey @y 23 e |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the equation of the plane passing thrnugh the line of intersection of the planes
2x—7y+4z—-3=0, 3x—-5y +4z+11=0 and the point (—2, 1, 3) is ax + by+cz—7=0, then

the value of 2Za+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(-2, 1, 3) R =% 2x—7y+4z—-3=0, 3x—5y+4z + 11 =0 T [OEE QIR @EN FATGA]
ﬂ?ﬂﬁi’@ﬁaxllﬁylcz 7=0%4, 7508 2a+b+c-7%39 I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 88 Question Id : 8643513508 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E P E2 and Ea' The probability that only E | occurs is «,
only E, occurs is 3 and only E; occurs is y. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2B)p=aff and (p —3y)p=2py. All the given

probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of Eq

Then, is equal to

Probability of occurrence of E4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513508 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4q1 2’7 E,, E, ¥ E, fSf5 ¥o7 9611 E, 961 WA o, E, 76/ Felae g =% E, T6r7 eI |
I (PN @51 Toell oA FGES ‘p’ W WA (a—2B)p=af T=F (B~ 3y)p=2py F & I
AFCATAD AGEST (0, 1) TGS 451 I 44T (20T

E, W5/ FeiEer
E, 961 FgIEe

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

ST A 2 |

Question Number : 89 Question Id : 8643513509 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: 1-—2%)
If f(x =sm{cns 1[—‘
/) \ 142

\

b e o S . J b
and its first derivative with respect to x is —lngE 2 when
a
J

5 s = i Ty =
x=1, where a and b are integers, then the minimum value of |a®—b~| is

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513509 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

( (1-22))

W f(x) = sin| cos : I x ACHTE FA-DE ST TEFAS Elﬁge 2 @& x=1, 39
‘ a

2% -
(1 2% ]

a OF b TS FeAM| (0% |a2 - b2| T fgea I 27

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513510 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If a —ai +Bj +3k,

b = [:3.1: rx._;r: L and

'

I
k3
=

such that a - b =1 and b - e

— =3, then E“ﬂ s Bl s c-| is equal to

—
¢c==3,then ||l , ,]. ] 185€qualto_________
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513510 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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T a =ai A [3;;‘ + 3k,

b=-Bi —aj — k O

p 33— s

S A b1 o

b-c=-3 %

sl s |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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